EMERALD 8s

PA-1285 ON SALE NOW

\ PENNSYLVANIA
\ LOTTERY

[ REVEAL AN " 8" (EIGHT) SYMBOL, WIN PRIZE =
[ SHOWN UNDER THAT SYMBOL. et
CHANCES ARE  CONSOLIDATED
B win with: WIN: 1IN: CHANCES ARE 1 IN:
A B FREE $1 TICKET 9.68  FREE $1TICKET = 9.68
$ S1 $1 150.00 $1=150.00
S1x2 $2 23.08
| 52 $2 42.86 $2=15.00
EMERALD w/ ($1 x 5) $5 200.00
[ $1x5 $5 600.00
$5 $5 750.00 $5 =125.00
0 BIY 58 150,00
§ ($1x 3) +$5 98 300.00
$8 $8 100.00 $8 = 50.00
[ EMERALD w/ (52 x 5) $10 600.00
$2x5 $10 1,500
P B $10 1,500
$10 $10 3,000 $10 = 300.00
(R EMERALD w/ (52 x 3) + $8 + S1) $15 3,000
F $5x3 15 1,500
$15 15 3,000 $15 = 750.00
| '\ EMERALD w/ (($5 x 3) + $4 + $1) $20 1,500
$5x4 $20 1,500
Ol $10x2 $20 1,500
F $20 $20 1,500 $20 = 375.00
EMERALD w/ (($5 x 4) + $10) $30 1,846
P $10x 3 $30 24,000
$15x 2 $30 24,000
0 Bl $30 24,000 $30 =1,500
EMERALD w/ (58 x 5) $40 2,400
Ol $10 x4 $40 24,000
1 $20 x 2 $40 24,000
$40 $40 24,000 $40 = 1,846
P EMERALD w/ (510 x 5) $50 6,000
EMERALD w/ ((S5 x 4) + $30) $50 24,000
R $10x5 $50 24,000
$50 $50 24,000 $50 = 3,429
3 EMERALD w/ ((S15 x 4) + $20) 580 4300
A $20 x 4 $80 24,000
$40 x 2 $80 24,000
J 580 $80 24,000 $80 = 3,000
EMERALD w/ (580 x 5) $400 240,000
E $400 $400 240,000 $400 = 120,000
$400 x 2 $800 240,000
L 3300 $800 240,000 $800 = 120,000
0 $8,000 $8,000 1,080,000 $8,000 = 1,080,000
(Y REVEAL AN " Z0" (WINALL) SYMBOL, WIN AL 5 PRIZES OVERALL CHANCES
SHOWN! OF WINNING: 1 in 4.68
T Prizes, including top prizes, are subject to

availability ot the time of purchase.




